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IRECTORATE OF SCHOOL EDUCATT
TAMILNADU
12NPCB09 | NEET PRACTICE QUESTIONS Class: XII
Time: 1.15 hrs
(2023-24) (TEST-9) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. The nuclear radius of a nucleus with nucleon
number 16 is 3 x 10°m. Then the nuclear
radius of a nucleus with nucleon number 128
is

A)3x10%m
B)6x 105 m
C)1.5x 105 m

D)4.5x 105 m

16 BlwseflmeaTs:eT  Q&MeooT. — 63h
Seossmalledr 9T 3x 10"m  ereflev
128  mlwseflumerg:er  Q&meoTL. 676
2600188 ([H 6N 60T 2T LD

A)3x 1075 m
B)6x 1075 m
C) 1.5x 10" m

D)4.5x 10" m

2. In the nuclear fusion reaction

H*+ H’— He*'+n

Given that the repulsive potential energy
between the two nuclei is = 7.7 x 104]. The
temperature at which the gases must be heated
to initiate the reaction is nearly (Boltzmann’s

A)3.7x 10K B)3.7x 10K
C)3.7x 10K D) 3.7 x 10°K
3| 60155 (Ih @) 6 600TEY aflemeoruilev

1H2 + 1H3 — 2He4 +n

@ eor(h) 2L &HMH&HHEHH G @6enLGul 2 aTerT

allews@  Blemeuwimmmey  CHMFMTWLILOTS
77x 104 eteorT Q&EMTHSH&HLILL(HETETSI.
6l 6m 6oTEm WL 2 TLNGS LGS L
6T S QeULlILIBlemeVE S QUMW & & 6T
QauLILLULUMSS LI L Geuevor(h) LD

(GLITELL 6hGL6T LomNed K=1.38 x 10-2 J/K)

A)3.7x 10’K B)3.7x 10°K

C) 3.7 x 10°K D) 3.7 x 10°K

3. Aradioactive nucleus A with a half-life T decay
into a nucleus B at t = 0, there is no nucleus B.
At some time t, the ratio of the number of B to
that of A 1s 0.3. Then t is given by

A) t=TLog(1.3)

o
B) 1= 10g(13)

. Tlog?2
C) t=Tog13
Tlog1.3
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60T LuleT wwswdaoasalai.NEITeT 6
WGEEH[H A FlenFHeUmLHS 2 e0&H5(0H B
2 (HAUMTHMI. t=0 ©)6V B 2 eIGHEH([H ©)6V60I6V.
t BITLSF6V 3|6V E5(H B LDMHMILD | 6505 & ([H
A &6 @emLCW 2 6Ter &SI 0.3 6reoflev
QEMTH&GHLILILL t 3L60TSI

A) t=TLog(1.3)

_ t
B) 1= log (1.3)

Tlog?2
log1.3

Qt=T

Tlog1.3

D) log 2

T

4. The energy equivalent of 0.5g of a substance
is

A)4.5x10%)
B)1.5x10°)J
C)0.5x10°]
D)4.5x 10'%]
0.5 g QUTHEBEES FLOLDITET 3, MM6V
A)4.5x 108)
B)1.5x10°)J
C)0.5x10°]

D)4.5x 10'6]

5. The binding energy per nucleon of |Li’ and
,He* nuclei are 5.60 MeV and 7.06 Mev
respectively.

In the nuclear reaction ,.Li’ + H' — 2 He* +Q.

The value of energy Q released is
A) 19.6 MeV

B) 2.4 MeV

C) 8.4 MeV

D) 17.3 MeV
kindly send me your key Answers to o
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Jr err? ilzi(()JO-%%eggsalai.net@ng I.2c500

L7 nhgwnaw He Tonsmeerss (b8 &eler e
Blwgeflwmegasmer  LleneoorliL] QLmmey
WemmMGWI 5.60 MeV LomMILD 7.06 MeV &,@&LD.
Li'+ H' —2He* +Q

QbHs 2| EVNEE ([ eflemeoruflev
Qaveflail_iL(®Wmd mme Q elledT LG
6T6O0T60T

A) 19.6 MeV
B) -2.4 MeV
C) 8.4 MeV

D) 17.3 MeV

6. The half-life of a radioactive nucleus is 50
days. The time interval (t-t) between the
time t,, when 2/3 of it has decayed and the
time t, when 1/3 of it had decayed is

A) 30 days
B) 60 days
C) 15 days
D) 50 days

M &HHILES HEEHSmNST e
QLU &TeVID 50 BITL&H6T SLGLD. H6eorT 2/3
LGS HFlengeuenL ujld &HMeuld t, LOMMILD
H60T 1/3 LGS FemgeuenL Wb &Hmeuld t,
eTevtlev, GBI @) 6mLGleuer] (t,—t,) eTedTeor?

A) 30 BITL&6T
B) 60 [BITL_&6IT
C) 15 BITL_&6IT

D) 50 BTL_&6T

7. The half-life of a radioactive isotope X is 50
years. It decays to another element Y which is
stable. The two elements X and Y were found
to be in the ratio of 1 : 15 in a sample of a
given rock. The age of the rock was estimated

to be
A) 150 years B) 100 years

cars
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@@ &HflussmvwegRaalaiiNer X @)eor
T PUILEHMVD 50 UBLMGET. Q)&
BlemeUWITET  MAMTIH el Y 5
FensaumLBMmgl. Q&THSHELILL  LTemm
LrHFlullev @revor(h SHeofllnmIsG6T X WMHMILD
Y. 1:15 eteoTm NG EH L GHevor_MlulLILIL LS
6T6ot16L LIMemymUledT euul g

A) 150 6)(HL_MI8 6T B) 100 QU(HL_MBI&H 6T

Q) 200 6U(HL_MI& 6T D) 250 6 (HL_MI&H6IT

8.99% of a radioactive element will decay
between

A) 6 and 7 half lives
B) 7 and 8 half lives
C) 8 and 9 half-lives
D) 9 half lives

9% &HFlWEs Geflinld  Fenga|mid
@ emnLQeuerl

A) 6 LDMHMILD 7 S6MT QbU|L_&HTEVLD
B) 7 LDMMILD 8 6MT UL &HMTeVLD
Q) 8 LDMMILD 9 DT B UJL8TEVLD

D) 9 Q60T b,U|L_&MTeLLD

. An infinite number of particles each of mass
3 kg are placed on the positive x — axis at 1
m, 2 m, 4 m, 8§ m, from the origin. The
magnitude of the resultant gravitational force
on mass 3 kg kept at the origin is

A)4G B)12G

C)12/5G D)6 G
&6UGGUMTETMILD 3 kg Bl60MUEITET 6T600T600T (DM
SIGETHT GBHILemmM X AFFer WG
LjeTerflug e p b &1 1m, 2m, 4m,
Qsmamevallel  emauSS&LILIL (H6TeTer. o5
Liemerfludley emeudssLiLIl L 3 kg BlemmueTer
SIGerfleor g FFiyLIL 6160y & Ul 60T G\ &5 (&5 LI LI 65T
LG ILIMTeoTS.

A) 4G B)12G

Q) 12/5 G kindly send meBp6iiGkey Answers to o

10. During'wwtioibiT apsaadiom equator to pole
of earth, his weight will (neglect the effect of
change in the radius) (given Rw?=0.033ms?)

A) Decrease by 0.52%
B) Decrease by 0.34%
C) Increase by 0.52%

D) Increase by 0.34%

pOemT  USHUINEHS  eiluiler
SBASSIHESG @M ST GUIKIGSTS
HHB ML eUeTdl 6Tl (TSHH6V
eiMUBL  WMMHMEHMS  LIM& 86001188560
GLaILD Rw? = 0.033 ms?)

A) 0.52% GenMR M
B) 0.34% GeMHMS!
C) 0.52% B &HH Ml
D) 0.34% 915 & fl&H

11. Three masses each of mass m are placed at
the vertices of an equilateral triangle ABC of
side | as shown in figure. The force acting
on a mass 2m placed at the centroid O of the
triangle is

A) 112
B) 1/4
C) 172
D)0

L Bem@peTer &FOUSHS (N&HCSMeoord  ABC
R6TMIET  (LNEM6TEETl60. REUGIAIMETMIND m
15160 (DU 6ITEIT [B160) &6 606U & 85 LILIL (H 6iTerT6oT
6TeOfl6L  (LNGHBHMTEOTSHH 60T  emLDWILIL|6T6r]
O-aflev  emeudsLILIL(HeTer 2m  Blemymulesr
1581 QFwWeLLIGID allens
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12. A body weighs 250 N on the surface of the
earth. How much will it weigh half way down
to the center of the earth.

A) 125N
B) 250 N
C) 150N

D) 175N

Ldufledr GLOUILILNY @@ QuUT@merler
6160y 250N 6T60116L L, LA U9 60T 600 LOWLIS 5\ 60l (B H Sl
UmE Qsmemevalled SBCLD  IS60T  6Te0L
GTEUAUGTRUMTS @) (H& G LD.

A) 125 N

B) 250 N

C) 150 N

D) 175N

13. The escape velocity of 10g body from the
earth is 11.2 kms™. Ignoring air resistance,
the escape velocity of 10 kg of the iron ball
from the earth will be

A) 0.56 kms™
B) 0.0112 kms™
C)0.112 kms™

D) 11.2 kms™!

kindly send me your key Answers to o
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L LAluflev wwwidgb Trserograrf| 6o MIQIEICY
FemsFGausd 11.2kms!' QL&D  &STmleor
SO  LMEHNESELILLSHEHS 666l
LOluNedl@bal 10 kg @GLOL LS eedTmleor
aGLUb HensGausln

A) 0.56 kms™

B) 0.0112 kms™

0) 0.112 kms™

D) 11.2 kms™

14. Radius of earth is 6400 km and that of mars is
3200 km. Mass of mars is 0.1 that of earth’s
mass. Then the acceleration due to gravity on
mars is nearly.

A)2.5ms?
B) 5 ms™?
C) 1 ms™?
D)4 ms>

LpLBluN 6ot 94,71 6400 km LM MILD Q& 6) 6 Ul 60T
QL 3200 km &L, QFeuaumuiler mlemm
widluflesr  mlemmuiley 0.1 LOLMIEG eTevflev
QEalaImUl R TesH6er Lal FyLL whH&sLI0n
JD&HGSMOW

A) 2.5 ms?

B) 5 ms=

C) 1T ms™

D) 4 ms>

15. The ratio of escape velocity at earth v_ to the
escape velocity at a planet v, whose radius
and mean density are twice as that of earth is

A)l:2
B)1:4
C)1:2\2

D)1:2
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Ll ufeor o, 171D Loviyeri Baeipsetal] Mat_[756)emwl
L 2 I0LTBI@ 2_em LW 6(H Gasmerfleb L, dluflev
lGUB HengGeaushd v, MM G&merfledr
AQub HosCusld v-5& @eLGW
2 66T H56)

A)1:2

B)1:4

Q) 1:242

D)1:42

CHEMISTRY Q.No. 16 to 30

16. An increase in equivalent conductance of a
strong electrolyte with dilution is mainly due
to

A) increase in dilution is mainly due to

B) 100% 1onisation of electrolyte at normal
dilution

C) Increase in both (ie) number of ions and
mobility of 1ons

D) Increase in number of ions

BI&5 6060 62 auedlenin LAl& Ll 6T LG e udleor

FLOMT  SLSSHMeT AHSIILUSDE
(WDEGI GITF600TLD

A) 3jwenfl&erfler B&HIH6L IFH&HILILG

B) &g myeoor HJ& 56060  LoleoT LI 6rfludleor
100% ©Wieof Wm0

Q) oweoflserfledT  eTevoTenol1&6m8  LOMHMILD
3 W6t &6 5556V @ revor(h) LD
NPy [WIWF-

D) &wlevflgserfleor 6T600T 600118560 55
H&fLLg

17. Resistance of 0.2 m solution of an electrolyte
50Q. The specific conductance of the
solution is 1.4 S m™'. The resistance of 0.5 m
Solution of the same electrolyte is 280€2. The
molar conductivity of 0.5 m solution of the
electrolyte in S m? mol ™ is

kindly send me your key Answers to o
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A) 5 x Www.Trb Tnpsc.com
B)5x10*
C)5x107
D)5 x 10°

02 m GQ&mleyeter WeTUG6T HeMIEFey
eeTMl6e0r L6TEH6mL 500 QLG LD. &H6enTFedleor
BIWNESELSSIHmeT 14 Sm' @&, 05 I
Qaplajeter Cs WleTUG6T &6 ggedleor
LeoTE6em L 2800. 0.5 m LAl 6dT LI 611 & 607 & 69l 60T
Gmeuy HL&SIS5H M6 Sm2 mol™ 60

A) 5 x 102
B)5 x 10
Q) 5 x 107

D) 5 x 103

18. The variation of molar conductivity with
concentration of an electrolyte (x) in aqueous
solution is shown in the given figure. The
electrolyte X is

Molar
Conductivity
Ve
A) Hcl B) Nacl
C)KNO, D) CH,COOH
QEBTMHSHEHLILIL (heTer LL &6

B8 860 7560 6L L 60T LI G5 6] (x) 60T Q1 &F Ml 61 85 (S5 LD
GLOMeVTH &5 35 Mev)I & &L @) 6m L Gulu]6TerT
LToUT@® STLLLUL (GeTergl. Weru@erl x
6T6OT LIS

&LS5 S Hmeor

Ve
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A) Hcl www.Pad@&aleicNet

OKNO, D) CH,COOH

19. The correct representation of the Nernst

equation
_ 0.0591 nt
A) Emn+/m - EOmn+/m + n 10g[m ]
B) Emn+/m = IEomn-*-/m - %log[mlﬁ]

n n+
C) Emn+/m = Emn+/m + mlog[m ]

D) Emn+/m = EOmnHm + ﬁlog[mlﬁ]

QBIeTeVL.  FLOETUTL ML  LUWeTUB &S
FrflwumeT samenm CHTHASM:

0.0591

— o n+
A) Emn+/m - E mn+/m + n log[m ]

— RO _ 0.0591 4
B) Emn+/m - E mn+/m n lOg[l’l’l ]

n nt
C) Emn+/m = Emn+/m + mlog[m ]

D) Emom = E'mom + ﬁlog[m“]
20. Which of the following chemical reactions
depicts the oxidising behaviour of H.SO,?
A) 2HI + H,SO, — [ +SO,+ H,0
B) Ca(OH), + H SO, — CaSO, +2H,0
C) Nacl + H,SO, — NaHSO, + Hcl
D) 2Pcl, + H,SO, — 2Pocl, + 2Hcl +SO,CI,

GLp& el allemerderfley 6Thd ellement 6o
21,5616 eTMHMILD LictoTem L& GMl&EH M

A) 2HI +H,S0O, — 1 +SO, + HO
B) Ca(OH), + H,SO, — CaSO, +2H,0
C) Nacl + H,SO, — NaHSO, + Hl

D) 2Pcl, + H,SO, — 2Pocl, + 2Hcl +SO,Cl,

kindly send me your key Answers to o
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21. Time Wednifad) Topdeposit 1 millimole of
aluminfum metal by the passage of 9.65
amperes of current through aqueous solution
of aluminium ion is

A) 308
B) 10S
C) 30,000 S
D) 10,0008

gadleflwd  weflGHemend Q8 mevorL
Bi&&engsedev 9.65 QL wry
6B L GH6m& QENEHH) 1 H6Led GLomev
Sadleflwid 2 CoumsHams LIGWEF Q& U
GxemeUulmeoT GBI

A) 30S

B) 10S

C) 30,000 S

D) 10,000S

22. The limiting molar conductivities A° for
Nacl, KBr and Kcl are 126, 152 and 150 S
cm’mol ™’ respectively The A° for NaBr is

A) 278 S cm? mal™!
B) 178 S cm? mal™
C) 128 S cm? mal™

D) 306 S cm? mal!

NaCl, KBr nmmith KCl 91,8 wieumnledr GLomeuTy
HLESFHMeTHT PemmGul 126,152 LoMMILD
150 S cm? mol™ 9L,&LD. NaBr 60T eUIFLDL| [Blemey
Gmeuny &L&SIHmeneor &evor(HLINL..

A) 278 S cm? mal™’

B) 178 S cm? mal™

C) 128 S cm? mal™

D) 306 S cm? mal™
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23.Given  ES-Wwa-RadasalaiNet——0.42v).
The Potential for the cell 1s

Cr|Cr**(0.1m)||Fe**(0.01m)|Fe is
A)-0.26V

B) 0.399 V

C)-0.339V

D) 0.26 V

QaTH&&SULL (D eTerT LO) 60T &5 6V & &) 60T
L 60T 60T (LD & & & 60) & 8> 856007 5 (h) 5.
Cr|Cr3*(0.1m)||Fe2*(0.01m)|Fe is

(ng/m =—0.72V, B} jpe =— ().42V)

A)—0.26 V
B) 0.399 V
C)-0.339V

D)0.26V

24. The correct IUPAC name of the following
compound is

A) 2-methyl-5-nitro-1-chlorobenzene
B) 3-chloro-1-methyl-1-nitrobenene
C) 2-chloro-1-methyl-4-nitrobenzene

D) 5-chloro-4-methyl-1-nitrobenzene

Epsseul SFnFCHFIInGSHer &iflwimeor
IUPAC QuUiwliy

A) 2-QDEH L -5-mBLCIm —1-GCeTm Gy
Q\LI60TE 60T

B) 3-&CemmCr M —1-Qn&H6v —1-emBL BT
@I 60T & 60T

Q) 2-GCemmCrM-1-Q & H V—-4-enBL G
QLI 6oT & 60T

D) 5-&Cemm G M-4-Q & Hev-1-en B L G IT
@ LI 60T & 607

kindly send me your key Answers to o
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25. The numberd sbsteresdasiiers obtained by?

A) 1 B)2

Q)5 D)6
g ymesreny —2-LNw,lIcemeor LGTMLAIGeTmHMLD
QWb GCums HoLESGWL LmGeler
LT w185 6rfl 60T 6T600T 60018560085

A) 1 B) 2

Q5 D)6

26. The number of isomers for the compound
with molecular formula C BrCIFI is

A)3 B) 4

C)5 D)6
C,BrCIFI epeu&gnmi eumiiiim® ©&meoorL
GF IS T aVl6iTerT LD T D () UL 151 85 6rf | 60T
6T600T600T | &5 60185

A)3 B) 4

Q5 D)6

27. Which of the following compounds will
exhibit geometrical isomerism?

A) T-phenyl-2-butene
B) 3-phenyl-1-butene
C) 2-phenyl-1-butene
D) 1, 1-dipheyl-1-propene

GLpEsoTL. GFILMGET s
LTHMWSS QaleflliLdGSSID

QI 6l

A) 1-19.6m60T6V-2-LIN W, LI 60T
B) 3-Lilemeorev—1-LI Wy, L IeedT
Q) 2-L9emeorev—1-L91Wl, L L@ 60T

D) 1,1-em L LTemeorev-1-L |G LIL 60T
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28. Which of thavwolladagalakNethave least
hindered rotation about carbon — carbon
bond?

A) Ethane

B) Ethylene

C) Acetylene

D) Hexachloroethane

STTLGT-STTL6T Nemeoorlienll QUTMISS
aemyuiley  HPESHEITL (TFCFILSHI
&rLD6V6U G D & 60T ol GODHSI
SmeoTLILG&S MmSI?

A) iF &G & 60T

B) 6758516060t

Q) AP 1965607

D) Qam&FT&GCermErT i & G5 60T

29. The compound which is not isomeric with
dicathlether is

A) n-propyl methyl ether
B) butan-1-ol

C) 2-methyl propan-2-ol
D) butanone

ML  a5H60  FHHGLET  WIHHLSmS
QaueflILMSSTEH GFIFLOLD 6T5I1?

A) n-4GrmLienLey QLOSH6L F&IT
B) LMW, L_63T —1-34,60&Ham M6V
Q) 2-QI&H6V L|GTTLILIGT-2-31,60

D) LYw,L"L_GeormedT

30.25g of an unknown hydrocarbon upon
burning produces 88g of CO, and 9g of H,O
This unknown hydrocarbon contains

A) 20g of carbon and 5g of hydrogen

B) 22¢ of cprham Aokt B¥THoREY Answers to o

C) 24¢g ofwwavbbrimidpgooddimdrogen

D) 18g of carbon and 7g of hydrogen

25 SImD emaml GrmamyuUemer 6flé @D
Gumal 88 & WwmHmih OC, MM 9% H,0
SHHMG. eTevilev 96 AL GI&HT L6160
2 aTergl :
A) 20 &) &MTFLET LDMHMID 5 & emamL[Feg36or
B) 22 &) &ITFLIGT LDMMILD 3 &) e L [7e260T
Q) 24 &) &THL6T InMHmMILD 1 & emamL_[Je60r

D) 18 &) &MFLIET LoMHMmID 7 &) e L [Jeg360T

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Find out incorrect statements of the following:

(i) A nematode Meloidegyne incognita infects
the stem of tobacco plants.

(i) RNAI is initiated by the ssSRNA
(ii1) RNAi involves silencing of a specific mRNA

(iv) The siRNA is unwound during RISC
assembly

A) (@), (i), (iv)
C) (i), (iii), (iv)

B) (1), (i), (iii)
D) (i), and (i1) only

L9 65T 62 (1 611 60T 6 D M 61T &5 61 M ITE0T Fon. M M) T 60 61T ER
&600T LMl U6y LD

(i) 2_memerLiL| W QL GeUIGL medleor
@ eTHTE LT Liendsulensuuiler & eoor(h)
LG& serflev Qg mmmin

(i) RNA GSMIGSL () ssRNAGUT6Y

SlanIsLUQSH M.

(iii) RNA GmI&SL_ B eTeoTLIg GMILILNL L RNA
QauerflliLim®eisms mRNA &(H &G LD

(ivyRISC  G&myssedleor  GuUME  siRNA
5B L_LLI & (H6IT Il6MmLDLIemLI
QRS

A) (i), (i), (iv) B) (i), (i), (iii)

Q) (i), (iii), (iv) D) (i), LomMiLd (i) LOL_(hILD
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32. Assertion (A)wwBv.Rhdasgladddéd produces
inactive toxic crystal insecticidal protein
during its growth.

Reason (R) : This toxins become active form
due to alkaline pH of gut of insect.

A) A and R false

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R true and R is correct explanation
for A.

Fahm : CU. &HFlEHPQAW6TEFN QFWevMM
LIg8s BFSH LEFSEQHTM LTS5 eneor
aleTiERuller CUIMS 2 MUSH QF LR MSI.

SMJeoTdD: @bS BFF LFRWlear @&GLedlev
2 676 &M pH-60T &HITT600TIOMS Gl&F UW6LLI(HILD
Blemevs & DM M Sl

A) Famml DMHMID  SHTJeoord — @ Feoor(hLd
el

B) oMMl LOMMILD SITI600TLD @)Fevor(hIlD &Fifl.
SITTEOTLD FoMMIM @& &iflwimest ellemg &L
sreilevemev.

Q) Bamm! &FIfl. HITFEOOTLD H6UMI.

D) SaMmI LDMMILD &ITFe0oTLD @ Ievor(hlld &ifl.

SITJ6oT LD S MMM & Fiflulmest e96T8:& 0
5BH DS

33. Golden rice is a transgenic crop of the future
with the following improved trait.

A) Insect resistance
B) High lysine
C) High protein content

D) High vitamin-A content

LYl edTeu (HLD 6TH& GULUMSSLILIL L
LI600T L| & @5 855 T8 TR THITELE B 6V
yUsn mmmliul L Qumereflm <&
LweTU®SSLIL(ILD.

kindly send me your key Answers to o
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A) L, & Ghaein. 518\ T (ngeimsiTen Lo
B) 815\ & emev T 60T

Q) 21H& Ursld

D) 9155 el L LoledT A

34. Main objective of production/use of herbicide
resistant GM crops is to

A) encourage eco-friendly herbicides

B) increase herbicide accumulation in food
articles for health safety

C) eliminate weeds from the field by manual
labour

D) eliminate weeds from the field without the
use of herbicides

FHMETHQ&EMVEN aTHILIL] GM Lulisserfleor
2 MLIGH) LIUI6OT LML 19607 (N&&HW GHME &L

A) GLpev  BLL & 665G 8 MeLedlem L

26155 &6 & &6 LD

B) &&MHMT LUMSSTUNMSTES 2 6vore]ll
QUM L& 6rfl 60T & 60656 85 M6L 0!
FI_F e 95 sfleHs

OoLey 2eampliier epevld ealuledley
QBB &EMeITHED 6T 8D MG 6V

D) S6m6T5 Q& mevedlEemerT
LWeTURQSSTINE el @ mbHal
560)61T860)61T | & D M) &6V

35. What is antisense technology?
A) RNA polymerase producing DNA

B) A cell displaying a foreign antigen used for
synthesis of antigen.

C) Production of somaclonal varients in tissue
culture

D) When apiece of RNA thatis complementary
in sequence is used to stop expression of a
specific gene
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o2 T Seo \vavTBadagalaiMet ereoTmM6L
6TGOT6OT?

A) DNA-6m6l 2_(Heums &L RNA LImeSlnGyen
B) 24,60T1q.G) 8260785 61T | 60T 2 HUSH &G
LweTU (B SSLILI(BILD W6V

2160719 G182 60TE60V6ITd G\ &5 T600T L G & 6.

Q) B & auemFLIL (nemmuiley 2 L VBT
mmml&erfler 2 MLIGSS)

D) @ GO L LD [T L1650 6)1] 657
Qeueflum_enL &H &8 RNA a6t BITLiL]
aflens LwWeTUBGSSLILOSMSI.

36. CRY | endotoxins obtained from Bacillius
thuringiensis are effective against

A) Nematode
B) bollworms

C) mosquito

D) flies
GLIF6L6VEN 311l F Q wi st @ endlev
QuUEUU@W  CRY | eTevor GLiTL & 6rdl6or
Y 15 TR IMEH Folums
QEweLIGHRPMmS.

A) 2_([He6TLIL| (W
B) &TUILIL|(D
O Q&sme
D) FF
37. The first transgenic crop was
A) tobacco
B) cotton
C) pea

D) Flax

kindly send me your key Answers to o
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(NS6V LD PEDT nhrFnsaicem . &Tel (LD
A) Lemaullemev
B) UGS
C) UL L mevof]

D) Lemgeny

38. Which of the following Bt crops is being
grown in India by the farmers

A) Paddy
B) Soybean
C) Maize
D) Cotton

L9 60T 61 (T 61 60T 61 (D 001 61T @QBSH W
afleusmuilserfleormev Lulfliul L Bt Lulg

A) Q\[H6V
B) GFmwirLeorerv
C) ID&&HTECSFTETLD

D) UBSH

39. Assertion (A) : Interkinesis is the stage
between the two meiotic division.

Reason (R) : Interkinesis is short lived and
DNA replication takes place during this
phase

A) A and R true and R is correct explanation
for A.

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R false
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Famm : @) reoovpvwiBhdasElaiNet! &L 1LM &
@ emL Gl SIMDHS 1) Blemev
LGLILemL &8 meuld ereorILI(HILD.

SITTeOTD: LUGLILNemL&8Meuld @ SmI&H W
&MeVld  WMmMIth DNA  @ILIQLILIENL &6V
@QbESS &TeVEHF 6V HEOLQLIMIG M.

A) Sa MMl LDMMILD STIevorid @ evor(hib &Iifl.
SHMTJeooTd o MMM Fiflwimet ellemg &0
S5HH DS

B) FaMMI LDMMILD &ITFevorLd @ Tevor(hld &ifl.
&Myeoorld oMM MG &iflulmeor ellemgssL0n
Srellevemev.

Q) oMMl &FIfl. GMTIeoTD Seuml.

D) oMM LWMMILD &TJeoorld @) Feoor(hlLd
SHeauml.

40. Match the following:
(1) Diakinesis - (a) May last for years
(i1) Diplotene - (b) Condensation of Chromosomes

(ii1) Zygotene - (c) Nucleolus disappear

(iv) Leptotene - (d) formation of synaptonemal
complex
(i) (i) (i) (iv)

A) ¢ a b d

B) b a d

C) a c d b
d

D) ¢ a b

QUTBHS S &H

(i) LWITen & 60T &6 - (a) &6V 34,6001 (H) & 61T 616D [T
B9 & 860D

(i) 19 LIGeTmieedT - (b) GCIMGLTGF TDG 6T

FHRIHE &M% e6TmS
(iii) MEFSHBSHTLIR 6T - (c) Blw,&6rflGUlmevery
MR MSI.

(iv) QeVLIGLITLR60T - (d) FeoTmLIGLMeof1LD6V
QEHTSLIL]
2 (HaUTHMS!.

kindly send me your key Answers to o
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(i) wwwiiY rb Taipsc.cdiv)
A) ¢ a b d

B) b a d C
Q) a C d b
D) c a d b

41. Find out the correct statements about recombinase

(1) This enzyme helps in recombination during
pachytene stage

(i1)) This enzyme helps in crossing over during
zygotene stage.

(ii1) This enzyme helps in formation of bivalent
during Zygotene stage

(iv) This enzyme helps in formation of chiasmata
during diplotene stage

A) (1), (i), (iv)
B) (i) & (iii) only
©) (ii) only
D) (i) only

FlamnLilGeorery GM&S5 Fiflwmeor

Fo. D MIG60)6T& & 600T LMl UG LD

() @bs QBTH UTHEHICET Blensvuiley
ISeTCFIHMEHEHES 2 56BN M.

(i) @& QBTH NFHECSHTLICT Hlemevuiley
GQ&HCHHMEH DS 2 HH M.

(iii) @b QBTH MFHCHTLICET Blemevuuiley

60) 16U M6V 6D0T L 2 (HUMHSHTH MG
2 5e|H M.

(iv) @B& QBTH 19LICML e BHlemevuiley
SWIMervGLOL_LIT 2 (HUMEHSH MG
2 5e|H M.

A) (i), (i), (iv)
B) (i) & (iii) LOL_(AILD
Q) (ii) L @Lb

D) (i) oL (AILD
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42. Find out the covvest Padiasalai.Net
A) Cell Plate formation — Multinucleate condition

B) Absences of cytokinesis — Furrow joins in the
center

C) Cytokinesis in animal cell — Representsmiddle
lamella

D) Cytokinesis in Plant cell — Starts from center of
the cell

SEUMITEOT 3)60)600T60UIS & 600T LM WLIG LD

A) QF6L L )
o BN — U6V 2 L& blemev
B) em&FL_GL.T60) & 60T Fl 6N Qeuerfluilev
@ 6Lemev G medTmlul
T UeTeTh 2 _6T@erT
@) 60 600T B D Sl
Q) eflevml@ QFevaarfley MLOUWIS
MFLCLITMGHOTFN — SL 19606078
GM&H M
D) HMeUE Q&F60& 66l Q&6V60 60T OO
MEFLCLTMGTHI — LGS UL
QETLBEIGHMS

43. Chromosome morphology can be studied
clearly in the stage

A) Prophase
B) Metaphase
C) Anaphase

D) Telophase

SGCrmCLMGa mLdleor Lm SlemnLlemL
Blemevulley Qg eflauns &HMmo
@uIaILD

A) LG mMeGLI6n
B) QLOL_L_Me@Lien
C) 3jeoTMSGLI6N

D) le@eume@Lien

kindly send me your key Answers to o
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44. Assertiom(Aybd npdmsens inactive stage of
Cell cycle

Reason (R) : Growth ceased during this stage,
but metabolic activity takes place

A) A and R true and R is correct explanation
for A.

B) A and R true and R is incorrect explanation
for A

C) Ais true and R is false

D) A and R false
gapm : G, Blemev 6Tl GQ&FL&HPHE
NG Blen6v QGLD
SITJ600T LD : QbS5 Blemevulev
QUETIE D S LILGSR M 91,60TIT6V

QIETTFIemnSLOMMHMLD H6OL G LMD

A) FoHMI LDMHMILD SITFeoorld @ revor(MLD &ifl.
SITTE00TID S MM @& Fiflwimeor alemd &0
5B DG

B) SmMmI LOMMILD &TJevorld @) Fevor(hn &ifl.
SITTE0TLD MMM & Fiflwimest ellemg &L
Srallcuemev.

C) SaMmml &FIfl. BMTIeOTD Seuml.

D) oMM LOMMILD &TIeooTd @) Fevor(hlLd
SHeUml.

45. Match the following:
(1) G, phase - (a) Replication of DNA take place
(11) S phase - (b) No DNA replication

(ii1) G phase - (¢) Maturation Promotion Factor

(iv) G, phase - (d) reduced rate of Protein
Synthesis
@ @) ) (1)

A) b a d c
B) a b d Cc
C) d b C d
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QUTHSSH&H www.Padasalai.Net
(i) G, Blemev - (a) DNA @ULIQLILIEL &6V
HEOYL_GILIMILD
(i) S mlemev - (b) DNA @ TLLQ LD L6V
B L GILIMTSI
(iii) G, Blevev - () WHTFFemW
o1& &1L S SIND
& ITJ6001 1 & 6iT

(iv) G, Blémev - (d) UTSHEFCEFTEHMS  GOMbHS
lemaileév 6L QLIMmID

() @iy (i) (v)

A b a d C
B) a b d C
QO d b c d
D) d b C a

| BIOLOGY (ZOOLOGY) Q.No.46to 60 |

46. Assertion (A) : Coacervates are believed to
be the Precursors of life.

Reason (R) Coacervates
duplicating  aggregates  of
surrounded by lipid molecules.

were  self
proteins

A) Both A and R are true and R 1is the correct
explanation of A

B) Both A and R are true, But R is not the
correct explanation of A

C) A is true, but R is false;

D) Both A and R are false.

Fnmml  (A): GCHMFICL(H&EHET  6T60TLIED6
(P&6V (LP6OTGEITITIY. CIF6VEETITSH

& ([H S L1 LI (H) 8 60T M 60T

&ryeoo] (R): CHMTFF/CeUl_(H&6T 6TedTLIEn6U
SMeTMsS  @ULIQUL]  SemLUWld WmmiD
OB eLNEVETnMIGETTEL GGLOLILILL, 63H
UIS QaM&LUL 24GLD.

A) A ommild R @uesor(pd &ifl R eTedTLIG!
A el & meor Fiflwmeot eflemg&Ln

B)A bmmilb R @uevor(hd &FIfl, e0Tmev
R eT60T LG A el &5 meot & Iflwimeot ellemgs&Ln

@ evemelsindly send me your key Answers to o
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Q) A iflyR\& ity Tnpsc.com

D) A Lnmmild R, @ revor(hLD &e6uml

47. Which one of the following are analogous
structures?

A) Wings of bat and wings of pigeon
B) Gills of prawn and lungs of Man

C) Thorns of Bougainvillea and tendrils of
Cucurbita

D) Flippers of Dolphin and legs of horse

G LD 8585 600T L_6) M M1 6T 613 Frflwmeor
QEFEWQTHS 2 MILIL|56rTI 60T @)6t600T?

A) Qleuemaumed) 6ot @M&HM S LOMMILD

LImTeNl6dT @)m 856008

B) @mmedledr QlFe 6T MmmID Lnevfl g eofleor
mlenguigev

Q) &MRS LLallev 2 6TeT (PL&6T MHMmILD
FenTuilev (GH&STUIILLT) &mevorLiLGILD
LIMMI& & LN & 6T

D) LmevLSleorw:erfledt  &Hev  SIBLILSH6T
DMMILD &FHenTullesr &meL&s 6T

48. Cro-Magnon man was

A) Frugivorous

B) Carnivorous

C) Herbivorous

D) Omnivorous
SCIMGLNE60T60T L0601 55 60T 62(1H

A) LILpTH5) 6v0T6001 |

B) 26me)6v0T 6001 |

C) HTaUT 2_600T6001

D) 2{60)60T8 &) 600T600(|
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49. Which one ofwvihiw.Peldasalag Ngitions gives
one correct example each of convergent
evolution and divergent evolution?

Convergent Evolution
A) Tendrils of cucurbita

Divergent Evolution
Bones of forelimbs of

vertebrates
B) Thorns‘ Of. Wings of butterflies
Bougainvillea and  — and birds
tendrils of cucurbita
C) Bones of forelimbs ~ Wings of butterflies
of vertebrates and birds
D) Bones of forelimbs ~ Eyes of octopus and
of Vertebrates mammals
GpsmeorLaimmier,  Gel LifleooT O LD

omib eNflufleormngSH msesmer & iflulmeor
THSHSHEHHTL(HSHM6T Q&HITEOTL.  (@)60)600T
6T&I?

&el uflewormioib afifl LflesorminLd
A) Femnuilev W& LI s erfleor
LI MI& &0 86T —  (DEOTEUTIBIG TV & 6116V

2 _GIT6IT 6TeVILDL| 86T
B) GUIT & e0TeNl6v6v meNl 60T

(DL &6T DD LIM6Em6U&HET L0 MHmILD

G&&55FULLTG efletr ULI_.”LDQ’{’E@@W
QBTSN @\ &> 60) 885 61T

Q) Q&L s erfleor <IN
i?&rmrﬁiane’uaaﬂ@ e VB e

\ \ . UL TIDLLES

2 66T eTEILDL|&56T

D) &I &b LI & erfleor
(PETETRIG TSl —
2_6IT6IT 6TEILDL| 86T

91,8 GLITLIGN & 60078561
LOMMILD LITETL 1q &6iT

50. Match the following columns

Column | Column II
a. Darwin  — 1. Abiogenesis
b. Oparin  — 2. Use and Disuse of organs
c. Lamarck — 3. Germplasm theory

d. Weismann August 4. Evolution by

natural selection

a b c d
Al 4 2 3
By 4 1 2 3
2 4 3 1
D) 4 kihdly sehd me Your key Answers to o

& iflw meov@ysn dansTaopst. Cap H 0\ & (b):

alflens | aflens I
a.Lmyefleor — 1.2 ulfleorn)l 2 ulF
G&meoTM6L G&HML_LIM(H)
b. eumfledr — 2. LwedTL() LDMMILD
LuwleoTULTs GamL_Im()
C.UMDMIE — 3. eUemi&a@ LlemmeLd

(@b WermaLb)
d. @&Vl afe omeT — 4. @uimend CHIT6

GamLum(
a b C d
A 1 4 2 3
B) 4 1 2 3
Q 2 4 3 1
D) 4 3 2 1

51. The extinect human who lived 100000 —
40000 years ago, in Europe (Germany), Asia
and parts of Africa, with short stature, heavy
eye brows, retreating foreheads, large jaws
with heavy teeth, stocky bodies, and stopped
posture,

A) Homo habilis

B) Neanderthal man
C) Cro-magnan man
D) Rama pithicus

100000 - 40000 ©Le00T(N&HEHEHEGSG (LD6EOTL,
oCrmLUm, (Ogrwefl) SWHwm WwHmiID
LN flssmaller Flev LIGH&H6TeL aUmbbhs
(L 6T G6oTITLY 85 61Fl 6L GBS 2 WL
LTSS WMeT  L|[HeUMmIGET,  SFmuleumeor
QBMM, SIBSHUI STEL_G6T, LIIHLOEDTT6oT
2 L6y, wWwmmid ursd mlATHs Blemey
Q& TEvoTL L|em & LI 61 LD6vfl &5 60T

A) CammGLm ammLiedlen
B) IB]UIT60OT L& M6V LN 60T & 60T
Q) &G MGLN&60T60T L0601 55 60T

D) prmlils & &6
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52. Match the followingdachnaias Net

Column 1 Column 11

a. JBS Haldane 1. Jurassic period
b. Archaeopteryx 2. First reptiles

c. Carboniferous period 3. Vestigial organs

d. Coccyx 4. Prebiotic soup
5.Homologous
argans
a b C d
A) 4 1 2 3
B) 1 2 3 4
C) 5 4 2 1
D) 2 5 3 4

Frflwimeor @)6m600Tg: 606 GBI 56 & (h) & &6 LD:

alflens | alflens I
a. JBS ammeLBL 6T 1. 8°pMH & LI(HeULD
b. 9 THHCWTLIGLl&Gen 2. 2emjeuer

c. BTIGUIMmenfl@LITen
LI(HeULD 3. 6TFF 2 MILIL|&6T

d. UMV (LPEITGIEMaILDL]
4. 2erulif] (peoTCEOTITL. &

Frml
5.94@@&an55
2 MILIL&6T
a b C d
A 4 1 2 3
B) 1 2 3 4
Q) 5 4 2 1
D) 2 5 3 4

53. When you hold your breath which of the
following gas changes in blood would first
lead to the urge to breathe?

A) Falling O, concentration

B) Rising CO, concentration

kindly send me your key Answers to o
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C) Fallingy\@ Oy b dripsteaion

D) Rising CO, and falling O, concentration

ROT NFmEF BTG 2 6melWwsHsl
PloggIn CuUTsl @UHssHe gmHu@LD
aurw uflinmrmm mlsLpeserflev 618! (& 6516L
FUTRES STeooT(hH M|

A) O, SILJ6Y Gemmeug

B) CO, L6 SIS &H1LLG

C) CO, 2|66 G6emMmeUs

D) CO, 6Ty SHH &FLIL D muh O, L Fey
GMMeUS!

54. Which one of the following statements about
blood Constituents and transport of gases is
most accurate?

A) RBCs transport oxygen whereas WBCs

transport CO,

B) RBCstransportO, whereasplasmatransport
only CO,

C) RBCs as well as WBC s transport both O,
and CO,

D) RBCs as well as plasma transport both O,
and CO,

@QUs5LILGS QUIT(HL 6T LM mILD

aurmw uflomrdobd GMsSs, SLp&ssTEiD
QMH&H WEISETI 678l W& e Fiflumersi?

A)RBC &&6T O, eflemertuyld, WBC &&6i
CO, em60TW|LD &g I 60TM6OT.

B)RBC &&6T O, eflemestuyld, LYemmeruom
CO, emeor LOL(HILD &L_& &I 6dTm6or.

C) RBC W0mmih WBC &&6T O, mmid CO,
@) [T600TEm LU LD 8518535165\ 60T 60T

D)RBC ommub Liemmeruom, O, WMHMILD
CO, 60Y60T &L &!5) 60T M6
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55. Although much@@PaslasataedNeéd blood, yet
blood does not become acidic because

A) CO, is continuously diffused through the
tissues and is not allowed to accumulate

B) In CO, transport, blood buffers play an
important role

C) CO, is absorbed by the leucocytes

D) CO, combines with water to form H,CO,
which is neutralized by NaCO,

QUHS5H 6L 3H&H CO, HLSSHLULLLTNILD;,
@Uggmg@wggmmmg@Lmn@ma@a
& ITIJ600T LD

A) CO, QaMLIHE Hassmerfley uya S msl
QLEOTITEL @)\ T 55 H 6V CFTaUH 606m6V

B) CO, HL$5606L QTS5 SMMI&H6 (N&HIL
LUMBISTHOHRMS.

Q) OW,BHMen &L (H &H6ITITeV O,
2 MlEGaFlILQSH M.

D)CO, MHmLeTr @emeorhsl H,CO-3
2 (HAUMHGSHMSI. @l NaCO,
BHBleneVWTEHESLILRSH MmS

56. Which of the following diseases and their
target parts are matched correctly?

[. Emphysema - Nasal lining
II. Asthma - Bronchioles
II1. Hay fever - Alveolar sac

IV. Pleurisy - Pleural membrane

AL TV B)I, IV

o) 1L, Iv D) IV only
Qa&MO&HLULUL(M6TET  S&HeumF  GCBMTUISET
LDMHmILD SFH DL LUmSH &LLBILD
2 miliL&erfley, Fiflwmeor 9) 60)600T60) UL
&600T LM &:
l. eTlD&EOUE DT — BTE L L6l
Il. QL6 — LN & &+ ST 6m6rT

kindly send me%@@%ﬂﬁ%m too
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GBIul — STHMILIEnL
IV. @b & —  LEBT6 Fela

A)ll, IV B) I, IV

O, v D) IV LDL@Lb

57. The chronic respiratory disorder caused
to a person with severe addiction towards
cigarette smoking will be:

A) Emphysema

B) Asthma

C) Respiratory acidosis
D) Respiratory alkalosis

LHen&UINE55NEE — SIGeNDWTET 0
e HHEG gHUBWD BIeTULL  &HeUTs
@& e mm

A) 6TLD &MU LD

B) @L6nV IO

Q) &aums 9Ldlevs & 6oTemLn

D) &aIMF 21,6085 GeVITF 6

58. Match the workplace with the occupational
respiratory disorders.

Column | Column II

a. Cotton industries 1. Asbestosis

b. grinding industries 2. Fibrosis

c. Asbestos industries 3. Asthma

d. Construction sites 4. Silicosis

a b c d

A2 4 1 3
By 1 2 3 4
Q4 3 2 1
D)3 2 1 4
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Lenll LSS hGwmPadasatgibit  geurg | 60. WhenvpawidlrpregpseecomCO, rises, the O,

C& eI M1 & 6m 6T @@@WEQ, giflwimeor dissociation Curve of haemoglobin at 37°C
aflenLenl CHTHOSH &&Ha]LD. will
LGS | LGS I

A) remain unchanged

a. LIS D) 6mev&H6eT 1. 9,60G6 LIenuGLmerdleny _
B) become irregular

b. LDETOTEL {60 TS &6V

91606085617 2. BTflemLp& 8L 19 &6T C) shift towards left
C. SbENVEILIGVL M6 D) shift towards right

31,60)608 6T

(SEVBITT

CO, 60T LGS WSS 2 W@GLL QUTWE O,

IB] D161 60T 1 5 iT) 3. SpeVgILoT LNley auemere] 37°C 6L 6TSIOUMTEH @)[HEGLD?

d . . . 4. @6\8] £ RAel . . . .
&L (DILDITE0T 6T IS 6T Hlo&ITEleN A) LOTDITLOE [BlemevSHH (5 G LD

a b C d .. h .
B) @OMISDMSHTEH QH&HESLD
A 2 4 1 3
B) 1 2 3 4 0) QL LILI&G&SLOMNS HS(IHLD
Q 4 3 2 1 D) 6U6VLILIS&IDMTS H&(IHLD
D) 2 1 4

59. If a baby had born with, a small tail. It is the
case exhibiting

A) Retrogressive evolution
B) atavism
C) metamorphosis

D) mutation

R GLHMG Fllwl eUmeIL.6dr
HohS@UI6T, 918 ShesTamin  6bhs
B8 Lpemel GaleflL(R &S USTELD?

A) Ledteorem L6y LiFfleooT LoD

B) (n&IOTL] @ miLiL] L&)

Q) 2_(BLmmMmLD

D) Sl InmmmLD
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